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II. 

Να κυκλώσετε τη σωστή απάντηση σε καθεμιά από τις παρακάτω πε-

ριπτώσεις 

τ ό τ ε   κ α τ '  α ν ά γ κ η   θ α   ε ί ν α ι : 

A)yxutronmlihgfedcaVQOMLIEDCBA  l  < m 

Α )  1 = m  Ε )  m  <  l. 

A)  8  Β )  1  Γ )  0  Ε )  ­ 8 . 

ε ί ν α ι   ί σ ο   μ ε : 

Γ )  1  Δ )  ­ 1  Ε )  0. 



A)  x0  = 0  B)  x0  = 2  Γ )  x0  =  ­ 1  Δ )  x0  =  l . 

1.  Δ ί ν ο ν τ α ι   ο ι   σ υ ν α ρ τ ή σ ε ι ς  

Α π ό   τ ο υ ς   Π α ρ α κ ά τ ω   ι σ χ υ ρ ι σ μ ο ύ ς   λ ά θ ο ς   ε ί ν α ι   ο : 

Α )  η yxutronmlihgfedcaVQOMLIEDCBA  g  ε ί ν α ι   σ υ ν ε χ ή ς   σ τ ο   2 

Β )  η   f  ε ί ν α ι   σ υ ν ε χ ή ς   σ τ ο   1 

Γ )  η   g  έ χ ε ι   δ υ ο   σ η μ ε ί α   σ τ α   ο π ο ί α   δ ε ν   ε ί ν α ι   σ υ ν ε χ ή ς  

I I I . 

2.  Π ο ι α   α π ό   τ α   π α ρ α κ ά τ ω   ό ρ ι α   ε ί ν α ι   κ α λ ώ ς   ο ρ ι σ μ έ ν α ; 

3.  Δ ί ν ε τ α ι   η   σ υ ν ά ρ τ η σ η   f  η   ο π ο ί α   ε ί ν α ι   σ υ ν ε χ ή ς   σ τ ο   δ ι ά σ τ η μ α   Δ  =  [0,3], 

μ ε   f(0)  = 2 ,  f(1)  = 1  κ α ι   f(3)  =  ­ 1 . 

Π ο ι ο ς   α π ό   τ ο υ ς   π α ρ α κ ά τ ω   ι σ χ υ ρ ι σ μ ο ύ ς   δ ε ν   π ρ ο κ ύ π τ ε ι   κ α τ '  α ν ά γ κ η   α ­

π ό   τ ι ς   υ π ο θ έ σ ε ι ς ; 

Ε )  Η   μ έ γ ι σ τ η   τ ι μ ή   τ η ς   f  σ τ ο   [0,3]  ε ί ν α ι   τ ο   2  κ α ι   η   ε λ ά χ ι σ τ η   τ ι μ ή   τ η ς  

τ ο   ­ 1 . 


